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GROSS HDCP NET REMARKS
1 fi1 B =8 36 37 73 3.6 69.4
2 i1 3B (B— 40 42 82 12,0 70.0
3 B £—BB 38 37 75 4.8 70.2
a4 i PIER  #ER 44 43 87 16.8 70.2
5 i1 I )\¥g 40 39 79 8.4, 70.6
6 il =B ML 42 43 85 144 70.6
7 i1 AE BA 39 37 76 48 71.2
8 fi7 B BS 42 40 82 10.8 71.2
9 i1 ity B— 39 43 82 10.8 71.2
[ Kivi 258 W¥== 39 42 81 9.6 71.4
11 i1 INEE EEA 40 40 80 84 71.6
12 fi1 =) =33 40 39 79 7.2 71.8
13 i1 HE F— 40 39 79 7.2 71.8
14 i1 = 40 45 85 13.2 71.8
15 {i1 ml £ 36 36 72 00 72.0 BG
16 fi1 B2 B8 a1 36 77 48 72.2
17 i1 h¥ H— 44 45 89 16.8 72.2
18 fi M RBE 42 46 88 15.6| 72.4
19 {i P N 42 38 80 7.2| 72.8
20 {i1 Bz Ihxk 46 46 92 19.2| 72.8
21 fiI 58 #H6A a1 38 79 6.0 73.0
22 (i 0B L=E 40 45 85 12.0 73.0
23 i1 Tk Z|X 50 a7 97 24.0 73.0
24 {1 gBAR EZ— a1 43 84 10.8) 73.2
25 {i] 50 B— 39 38 77 3.6 73.4
26 fi1 ik B4 43 40 83 9.6 73.4
27 fi INEY RE— 43 40 83 9.6/ 73.4
28 i1 F8 B8 a1 a1 82 8.4 73.6
29 {i 58 #39 39 43 82 8.4 73.6




GROSS HDCP

30 fi1 TE E€ 45 43 88 14.4| 73.6
31 fi1 bl ¥ 44 37 81 7.2 73.8
32 fi1 Bk BEE 40 40 80 6.0 74.0
33 wAx B 39 a1 80 6.0, 74.0
34 fi1 TE F 42 44 86 12.0, 74.0
35 fi1 e 5 44 48 92 18.0, 74.0
36 fi1 By BEE 43 49 92 18.0, 74.0
37 1 R BN 39 40 79 48 74.2
38 fi1 ity RS 44 41 85 10.8| 74.2
39 i1 WiF %= 41 44 85 10.8) 74.2
40 i1 wm=E B 44 47 91 16.8) 74.2
a1 8 =& 47 50 97 22.8) 74.2
42 f1 3 N 48 42 90 15.6, 74.4
43 BE 7 46 50 96 21.6 74.4
44 1 I RSB 44 39 83 8.4 74.6
a5 i1 TR =H 44 45 89 14.4 74.6
46 fi1 FF 2% 42 47 89 14.4| 74.6
47 i1 53 F03A 42 47 89 14.4 74.6
48 i RE FZ 50 45 95 20.4 74.6
49 fi1 L=JITI 7 49 45 94 19.2| 74.8
50 {1 Bl =2 41 40 81 6.0 75.0
51 i1 HE ¥Hz 42 45 87 12.0, 75.0
52 fi] Bif = 45 48 93 18.0, 75.0
53 fi1 i ERY 40 40 80 48 75.2
54 {i] £ IF8A 47 43 90 14.4| 75.6
55 {1 Pz BA 44 45 89 13.2| 75.8
56 i1 I R 43 46 89 13.2| 75.8
57 fiI EE B 50 44 94 18.0 76.0
58 fi1 N8 1EHB 47 47 94 18.0, 76.0
59 fi1 B &’RX 39 42 81 48 76.2
60 11 BE K 48 50 98 21.6| 76.4
61 fi1 RR B8 47 47 94 16.8) 77.2
62 {1 REB KX 42 45 87 9.6 77.4
63 i1 I B— 50 48 98 20.4| 77.6
64 fi1 =F A& 46 56 102 24.0, 78.0
65 fi1 I 1IES 44 51 95 16.8] 78.2
66 fi1 = =— 49 45 94 15.6 78.4
67 fiI HA 78 48 55 103 240, 79.0
68 i1 SK BE 53 52 105 25.2 79.8
69 fi1 TR B 55 55 110 28.8| 81.2
70 {1 2R & 55 61 116 34.8| 81.2
71 i1 B0 R=Z 48 49 97 15.6 81.4
A RE N.R




GROSS HDCP REMARKS

1 fiI 5w XRIE 43 41 84 14.4| 69.6
2 fi] IH HoE 41 37 78 7.2 70.8 BG

3 i RH = 43 40 83 12.0, 71.0

4 fil MA B a7 a7 94 228 71.2
5 {iI PR B 39 39 78 6.0 72.0 BG

6 {iI B8 1E5A 43 40 83 10.8 72.2

7 {iI Ao & 43 44 87 14.4 72.6

8 i1 AB & 42 38 80 7.2 72.8

9 fiI INI 5A 45 a1 86 13.2| 72.8
[ Rivi X8 FESR 41 37 78 4.8 73.2 BG

12 {11 mE —= 47 49 96 22.8 73.2

13 {11 JIg  H 44 43 87 13.2] 73.8

14 fi b B 43 44 87 13.2 73.8

15 fiI Hith FIE 38 42 80 6.0 74.0

16 {11 ki F0%6 43 42 85 10.8 74.2

17 {7 tiE 8 44 a7 91 16.8| 74.2

18 {1 RS &S 43 48 91 16.8] 74.2

s &Y a1 49 90 15.6 74.4

SR OE 43 46 89 14.4 74.6

=R OB 48 a7 95 20.4 74.6

KE FZ 51 50 101 26.4 74.6

e —3 45 43 88 13.2 74.8

BA BY 46 47 93 18.0 75.0

AN #Z 49 48 97 21.6 75.4

i 8z 46 44 90 14.4 75.6

%&IF FRIE 40 43 83 7.2 75.8

WeB E#EX a4 56 100 24.0 76.0

KE 68 50 56 106 30.0 76.0

Bt #88 49 50 99 22.8 76.2

W& B a5 a1 86 9.6 76.4

EZ #BX 49 43 92 15.6 76.4

wnAK B8 a7 a4 91 14.4 76.6

PiE FMX a7 43 90 13.2 76.8

e &3 a7 a7 94 16.8 77.2

&8 8 53 53 106 28.8 77.2

NA E— 45 a7 92 14.4 77.6

B B 48 49 97 19.2 77.8

b8 BRX 48 49 97 19.2 77.8

S 2 91T 3 44 53 97 19.2 77.8

bt 55 48 103 25.2 77.8

wr B— 43 46 89 10.8 78.2

ING SAEHER a4 52 96 15.6 80.4

A = 46 52 98 16.8 81.2

WE B 62 56 118 31.2 86.8




(LT —RT+1 ] OFf 17 €8h0
Rank NAME ouT IN GROSS HDCP NET REMARKS
Rivi BBE 4= 45 39 84 12.0 72.0 BG
2 i PR HBF 45 46 91 18.0 73.0
3 i1 B|E Edh=x= 44 47 91 18.0 73.0
4 i1 B = 45 45 90 16.8 73.2
5 i1 HE B= 44 44 88 14.4 173.6
6 fiI AH B 43 45 88 14.4 73.6
7 {1 BN FF 48 49 97 22.8 74.2
8 i1 B ST 44 44 88 13.2 74.8
9 il B BEEF 52 45 97 20.4| 76.6
10 {if AN IBF 49 47 96 19.2 76.8
11 fi NN E2F 47 53 100 228 77.2
12 i1 ZIg FEF 54 57 111 32.4| 78.6
13 {1 &Il pF 54 54 108 28.8) 79.2
14 {i] WM EF 60 53 113 33.6| 79.4
15 {i B/A VYUF 56 57 113 33.6) 79.4
16 {1 £z FE 48 49 97 15.6| 81.4
17 i A FRF 51 50 101 19.2 81.8




